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U2D8 MCR3UI Inequalities
Warm Up Solve the following:

a)3x* —5x+2=0 b) x> —6x—8=0
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Part A: Linear Inequalities
To solve a linear inequality, treat it like an equation
but flip the sign if you ever multiply or divide by a

negative.
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Solve the following linear inequalities and graph your
answers on the number line.

2x—1>5
Ax> b

%X >3
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Part B: Quadratic Inequalities

To solve quadratic inequalities, determine the zeroes
of the quadratic equation. Then sketch a graph using
the zeroes and the direction of opening to determine
for what x-values the parabola is greater than or less
than zero (i.e., above or below the x-axis).

Solve the following quadratic inequalities by graphing.

a) (x—3)(x+ 5)60 b) (2x-3)(x+ 7)&0R o
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c) —3(x+Dx-50 d) 5x’'-2x-3>0
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U2D8 MCR3UI  WORKSHEET Inequalities
Part A Linear Inequalities
1. Solve the following linear inequalities.

Question Answer
a) 3x+6>-3 x >-3
b) 7x=2x+10 x=2
¢) 3(x-5)<b5x-9 x=-3
d 3(y-5)<9(y+1)-2y y>-6
e) x_2£2x—3 xz%

Part B Quadratic Inequalities

Solve the following quadratic inequalities.

a)
b)
c)
d)

e)

x2-1>0 x>lor x <-1

x?-x-12<0 3<x<4

(2x -3)(x+4)=20 xz% or x <-4
-3x(x-5)<0 x<0or x 25

k?-9k >0 k<Oork=>9

Extra Practice Questions:
1.

!\‘

Solve the following inequalities and graph the solution on the real number line:

a) 6-2x>4 b) 41=-x)=23(x-1D

¢ 203x=1)-5r>—-6(1-x)+7 d) %sz
x+1_x+2 2-3x_,2 - 3x-2

© 5 <73 =537

Solve the following inequalities and graph the solution on the real number line:

a) 4 +8x+3>0 b) 10x°=17x+3<0
) 2xX +1lx+15<0 d) 81 —10x=1220
e) -6 —15:-9>0 f)  12x°-1lx+2<0

g)  —4x +18x+10<0
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